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S % V30 = 5.477 & o] &5t AT S T

® +0.003 @) Vo3 3
@ /3000 ® /300000

B

@D +0.003 = V30 x 0.0001 = 0.01 V30
@+V0.03 = V3x0.01 =0.1V3
®+0.3 = V30 0.01 = 0.1 V30

@ /3000 = V30X 100 = 10 V30

® /300000 = V30 x 10000 = 100 V30
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a= V3 b=y 2V s, b2 gengue

V3
D 6ab @Sab ® 2a+2b
@ 3a+2b ® 3a+3b
D VI =3VG 42 V5 =56

a= V2, b= V3 NXab= V6°lER
- 5V6 = bab




d= B b= F A, o164 V2L 2 2 e

V2
@D 6a+2b @ 6a+ 2ab @Gab—l—Qb
@ 2ab + 6b ® 2a+ 6ab

B

V216 = V23 x 33 = 2v2 x 33 = 2a x 3b = 6ab
V24 ARAx V2 V48 4

= x\/_: 8: \/522\5:21;
V2 V2 x V2 2 2

24
S V216 + (£> = 6ab + 2b

V2




@ V10— V45 + V40 = - V5 + 3V10
O V24+ VB4 + V27— Vi2=5V6+ V3
© VI8- V8+ V48— V12 = V2+2+3

3 28

@ %——%:‘/5—\/7

® V80— V2 —sz/ﬁ
V5

va.0 @06 G®oe ®oce

® 6,6

B

@ V10 - V45 4 V40
= V10-3+V5+ 210
=3vV10-3V5

© V24 + V54 + V27 - V12
=2vV6+3V6+3V3-2V3
=5v6+ V3

©® VI8- V8+ V48— V12
=3V2-2V2+4V3-23
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x(1+2V2) +y(3+5V2) = V2-6
FpH o = o|g}sto] st
x+3y+64+ (2x+5y-1)vV2=0
Al S0 71 Ao ofstod
x+3y+6=0---Q
2x+5y-1=0---©

o] & A& dAddste] EH
= Ly=[_]

wetA, xpy=[ |

® x=13, y=33, x+y=20
@ x=23, y=-13, x+y=10
® x=-33,y=13, x+y=-20
@x=33, y=-13, x+y=20
® x=33,y=13, x+y=43

B

x+3y+6=0---OQ
2x+5y-1=0---©

2xQ@ -0 =5t y=-13
o]Z& @l H A5, x =33
whebd x4y = 20 o]},




o3 2= AlETR9] dRolt, o2 5 Fol%l BE o]8sto] +&
T gle A2
Tl 0 1 2 3
1.5 1.225 1.229 1.233 1.237
1.6 1.265 1.269 1.273 1.277
1.7 1.304 1.308 1.311 1.315
1.8 1.342 1.345 1.349 1.353
1.9 | 1.378 | 1.382 | 1.386 | 1.389
D V162 @ +0.0192 ® 17200
@ 180 @«/0.00152

~&B ~

@® V162 = V1.62x 100 = 10V1.62 = 10 X 1.273 = 12.73
/1.92 V1.92
Vv0.0192 = {/ — = ——— = 0.1
@ +0.019 100 10 0.1386
® V17200 = V1.72 x 10* = 100 V1.72 = 131.1
@ V180 = V1.80 x 102 = 10V1.80 = 13.42

15.2 V15.2
® +0.00152 = \/—10000 TN




9. /24 VEEF- (VI VB = a+ b VH 9 B2 e,

a+14b O 22, a, b = F25F)

® -2 @ -1 @0 @) ® 2

7 1
—+ V(2P - —=(VT- V2
V2t VR (- D
_ Vi, VT V2 5 3Vl
7 2v2 242 2 28
5 3
(l—§,b——%
3 5 3
Mb=2-Tax > =2_2_1
atldb=3-lix3=35"3




10. x, y 7HfE5 o, x(2-2V2) +(3+2V2) 9] ghol Rl 47t Hrky
k. 2 o gre Fotu?

—~

Fo1Z1 Al) = 2x - 2x V2 + 3y + 2y V2
= (2x + 3y) + (=2x + 2y) V2
o] Ao] {7t 57| flsiM=
x+2y =0 (x, y= F85) o] HojoF et
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(1+ V2) (2+ V2) 31+ V2)
O @ O

® 2

OABCD 9} oDAEF & A2 H2¢ =gojng
AB —x, DF = %xﬂ'ﬁ]"?ﬂ

1 1
1:x:§x: 1, §x2:1, X2 =2

= x=VI( x>0)
- (A3, A5 849 712, A2 e] ool gh

=1+ «/§)+<1+ﬁ> 0+ v2)
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12. ofgfjet g2 Al 9] 4 BAE T2 2 UEhfH?

a=4,b=5-V2,c= 17

D a<b<c @b<a<c ® c<a<b

@ b<c<a ® a<c<b

B

(a=4

(2) b ] 9
—Vi<-V2<-+1
5-Vi<5-V2<5-+1
L 3<5-1V2<4
(3)c o] HY

V16 < V17 < V25

L 4<\17<5

L b<a<c




@s @)15 (3)35 @ 50 @99

S = (V2-1) + (V3-2) + (V- V3) + .. +

(Va+1-+n)=Vn+1-1
On=8¢m,Sn)=3-1=2

Qn=154M,Sn)=4-1=3
@n=349",5n) =6-1=5
@®n=502 o, S(n) = Vsl -1

®n=994 W, S(n)=10-1=9
m2tA O, @, @, ®7F "ot




14, f(n) = —— A, 1)+ f(2)+(3)+ -+ £(8) O] LI

T Vntli+ yn
@2 @ 3 ® 2v2-1
@ 2v2+1 ® 32

yrolng
+ V3- V24 -+ V9- V8




15. V143 9 2 atsta, Vb=1.105 4 W, a,b 9] 327

> 0 1 2 3

1.0 | 1.000 | 1.005 1,010 1,015

1.1 ] 1,049 | 1.054 | 1,058 | 1.063

1.2 | 1,095 1,100 1,105 1.109

1.3 | 1.140 1,145 1,149 1,153

1.4 | 1,183 1,187 1,192 1,196

® a=1.000, b=1.13 @ a=1.005 b=1.15
® a=1.049, b =1.42 (@)a =1.196, b =1.22

® a=1.192, b=1.23

oA 1.43 & 2O 1,196 °]E & +1.43 = 1.196 ©|11, A|
29 gro] 1.105¢ AL ZFom 122 o|EHR 1.22 = 1.105
1o}, webA a = 1.196,b = 1.22 0|t}
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